Origins of the Industrial Revolution

1. LA countries are colonies Haiti and L'Ouverture

2. Used for $$ - mercantilism Mexico and Hidalgo

3. Rigid social hierarchy South America and Bolivar

4, Forced conversions US and Monroe Doctrine
5. Colonies provide materials and Europeans lost colonies forever
labor

. / /

Back in Europe... / \
Where?

Europeans must make their own $ and products
1. Begins in England in early 1800s

Will go through an Industrial Revolution —
2. England lost US as a colony first
Industrial = making things (manufacturing)
— 3. Already went through Agricultural Revolution
Revolution = sudden change
4. More food = more people

England started Enclosure Movement
Make land and farms privately owned
People work harder for their own
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/ Why England?
1.
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Produce more and more food/resources

/ Why Else? \

1. England has resources (coal, iron ore, timber)
2. England has international markets ($S)
3. England had the capital ($S) to spend

4, England had some industry already (textiles, iron)

5. England more liberal, take risks

. - REVOLUTION




